| Description | Model | Serial # | Quantity | Replacement costs | |
|------------------|---------------|------------------|------------------|-------------------|-------|
| Framing Nailer | Super Framer | Sn890rh | 3 and 1 is broke | \$275 | \$275 |
| Decking Stapler | Senco | 056d1601 | 2 | \$200 | \$400 |
| Finishing Nailer | Senco | 3700617 | 1 | \$175 | \$175 |
| Finishing Nailer | Senco | 3202287 | 1 | \$175 | \$175 |
| Decking Stapler | Senco | 04a00462 | 1 | \$200 | \$200 |
| Finishing Nailer | Senco | 96100255 | 1 | \$175 | \$175 |
| Roofing Nailers | Super Roofer | 05202b076 | 1 | \$225 | \$225 |
| Roofing Nailers | Super Roofer | cn445r06209014b | 1 | | \$0 |
| • | · | | 1 | | \$0 |
| Framing Nailer | Super Framer | gs683ch06304567f | 1 | \$275 | \$275 |
| Screw Gun | Senco | ds202-14 | 3 | \$275 | \$825 |
| Roofing Nailers | Bostitch | rn46-106136-490 | 1 | \$225 | \$225 |
| Decking Stapler | Josef Kihlber | 670-6-16 | 1 | \$200 | \$200 |
| Decking Stapler | Josef Kihlber | 680-6-16 | 1 | \$200 | \$200 |
| Circular Saw | Makita | 5277nb | 1 | \$150 | \$150 |
| Circular Saw | Big Foot | h48412 | 1 | \$275 | \$275 |
| Circular Saw | Bosch | 5859838 | 1 | \$125 | \$125 |
| Circular Saw | DeWalt | 46478 | 1 | \$125 | \$125 |
| Belt Sander | Porter Cable | 532597a3030 | 1 | \$100 | \$100 |
| Belt Sander | Porter Cable | 573809a3034 | 1 | \$100 | \$100 |
| Power Drill | Makita | 126154a | 1 | \$100 | \$100 |
| Power Drill | Makita | 124455a | 1 | \$100 | \$100 |
| Power Drill | Hitachi | 740606 | 1 | \$100 | \$100 |
| Power Drill | Porter Cable | 011772a2044 | 1 | \$100 | \$100 |
| Power Drill | DeWalt | 98424200114e | 1 | \$100 | \$100 |
| Hand Sander | DeWalt | 871554 | 1 | \$50 | \$50 |
| Power Drill | DeWalt | 322197 | 1 | \$100 | \$100 |
| Power Drill | Makita | 35007 | 1 | \$100 | \$100 |
| Impact Drill | Porter Cable | pc1800id | 1 | \$175 | \$175 |
| Power Drill | Makita | 1137081 | 1 | \$125 | \$125 |
| Driver Drill | Milwaukee | 952a502360899 | 1 | \$100 | \$100 |
| Power Drill | Porter Cable | 011765a2044 | 1 | \$100 | \$100 |

| Power Drill | Bosch | 33618 | 1 | \$100 | \$100 |
|-----------------|-------------|---------------|----------|---------|---------|
| Power Drill | Makita | 189835a | 1 | \$100 | \$100 |
| Rotozip | Rotozip | 1805 | 1 | \$75 | \$75 |
| Rotozip | Rotozip | 177 | 1 | \$75 | \$75 |
| Rotozip | Rotozip | no# | 2 | \$75 | \$150 |
| Saw zaw | Bosch | 5801786 | 1 | \$125 | \$125 |
| Power Drill | Milwaukee | 055a500341413 | 2 | \$100 | \$200 |
| Impact Drill | Duik Drive | 010539a2003 | 1 | \$125 | \$125 |
| Grinder | Skill | 9295 | 1 | \$50 | \$50 |
| Circular Saw | DeWalt | 18312 | 1 | \$125 | \$125 |
| spade shovel | | | 5 | \$125 | \$625 |
| scoop shovel | | | 7 | \$200 | \$1,400 |
| come along | | | 5 | \$200 | \$1,000 |
| yard magnet | | | 1 | \$200 | \$200 |
| garden rake | | | 4 | \$100 | \$400 |
| sledge hammer | | | 3 | \$75 | \$225 |
| hand saw | | | 4 | \$80 | \$320 |
| drywall square | | | 11 | \$130 | \$1,430 |
| caulking guns | | | 6 | \$125 | \$750 |
| tri-pod | | | 2 | \$100 | \$200 |
| transit | CST/berger | m158928 | 1 | \$250 | \$250 |
| Laser transit | David White | ad153066 | 1 | \$2,500 | \$2,500 |
| floor trowel | | | 13 | \$150 | \$1,950 |
| brick trowel | | | 20 | \$300 | \$6,000 |
| scaffold | | | 25 units | \$3,000 | \$3,000 |
| squeege | | | 5 | \$100 | \$500 |
| 2' level | stanley | 43-524 | 1 | \$25 | \$25 |
| extention level | | | 1 | \$250 | \$250 |
| Power Drill | makita | 780080028 | 1 | \$150 | \$150 |
| Power Drill | dewalt | 951079 | 1 | \$150 | \$150 |
| Power Drill | dewalt | 654880035e | 1 | \$150 | \$150 |
| Roofing Nailers | bostitch | 10373 | 1 | \$225 | \$225 |
| LEVEL | 6' | | 2 | \$100 | \$200 |

| LEVEL | 2' | | 1 | \$50 | \$50 |
|--------------------|--------------|--------------|---------|-------------------|----------|
| LADDER | 6' | | 6 | \$300 | \$1,800 |
| STOOLS | | | 3 | | \$0 |
| 8' LADDER | MICHIGAN | 371708 | 4 | \$400 | \$1,600 |
| chop saw | Dewalt | 491100179 | 1 | \$275 | \$275 |
| chop saw | porter cable | 012207k2084 | 1 | \$275 | \$275 |
| stapler | power shot | | 2 | \$80 | \$160 |
| coping saw blade | KOBALT | 324CP9 | 3 | | \$0 |
| CIRCULAR SAW BLADE | IRWIN | 1828731 | 2 | | \$0 |
| 71/4 blade | dewalt | 36654 | 2 | | \$0 |
| 12" blade | dewalt | | 6 | | \$0 |
| sawsall blade | | | 1pkw/12 | | \$0 |
| stapler | bk | bk05600485 | 1 | | \$0 |
| electic staple gun | arrow | no # | 1 | | \$0 |
| sawzall | dewalt | 94779200233e | 1 | \$150 | \$150 |
| Power Drill | dewalt | 322196 | 1 | \$125 | \$125 |
| Power Drill | dewalt | 498450 | 1 | \$125 | \$125 |
| power charger | senco | no# | 2 | Included w/ Drill | \$0 |
| power charger | dewalt | 20061908f | 1 | Included w/ Drill | \$0 |
| power charger | senco | g048 | 1 | Included w/ Drill | \$0 |
| power charger | dewalt | 2010170b | 1 | Included w/ Drill | \$0 |
| power charger | makita | 04500a | 1 | Included w/ Drill | \$0 |
| power charger | makita | 1206502 | 1 | Included w/ Drill | \$0 |
| power charger | max | 70106 | 1 | Included w/ Drill | \$0 |
| power charger | porter cable | 128479r0073 | 1 | Included w/ Drill | \$0 |
| battery | senco | 48 | 2 | П | \$0 |
| battery | makita | 1834 | 1 | П | \$0 |
| battery | milwaukee | no # | 2 | п | \$0 |
| battery | senco | 45 | 2 | п | \$0 |
| battery | porter cable | 314248 | 2 | п | \$0 |
| power charger | makita | 7195071 | 1 | п | \$0 |
| Bobcat | Bobcat | | 1 | \$15,000 | \$15,000 |
| circular saw | makita | 680441 | 1 | \$150 | \$150 |

| sawzall | bosch | 783007a | 1 | \$150 | \$150 |
|-------------------------|--------------|--------------|---|----------|----------|
| circular saw | porter cable | 3990203a9923 | 1 | \$150 | \$150 |
| clamps | irwin | | 2 | \$50 | \$100 |
| flood lights | | | 2 | \$50 | \$100 |
| router | skill | 1817 | 1 | \$80 | \$80 |
| hand sander | tool shop | 92004 | 1 | \$25 | \$25 |
| 8'x24' enclosed trailer | | | 2 | \$14,000 | \$28,000 |
| 8'x20' enclosed trailer | | | 2 | \$12,000 | \$24,000 |

TOTAL INVENTORY for BUILDING TRADES PROGRAM

\$100,815